
1) 53 x (-45)

Answer: ____________

2) Round 4.81682272579 to 2 decimal 
places.

Answer: ____________

3) 3150 - 3083

Answer: ____________

4) Find the mean of the following set of data:

71, 57, 46, 0.3, 95

Answer: ____________

5) 1/17 of 272

Answer: ____________

6) 86 x 1000

Answer: ____________

7) Round 7.4734 to the nearest 10

Answer: ____________

8) Find the percentage change from 200 
to 446

Answer: ____________

9) (-9869) - (-1956)

Answer: ____________

10) (-150) ÷ 50

Answer: ____________

Total: ___ / 10
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Answers:

1) 2) 4.82 3) 67 4) 53.86 5) 16 6) 86000 7) 7.5

8) 123% 9) -7913 10) -3
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